

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

ORDER #004075

Events Enchanted 400 S. SYCAMORE AVE. LOS ANGELES , CA. 90036

Order Date: August 25, 2023 Due Date: Upon Receipt

PO: Shipping Address: PRIVATE HOME 852 OAK GROVE COURT OJAI, CA 93023

EVENT DATE: OCTOBER 11TH, 2023

DELIVER & INSTALL TUESDAY 8AM *2ND INSTALLATION WEDNESDAY AM -AND STAND BY TILL 6PM*

PICK UP THURSDAY AM

Description		Qtty	Price		Total
FRONT HOUSE	- RIGHT SIDE (BEDEKEN)				
	GRAY WASH BAR 6FT	1	\$250.00	Т	\$250.00
	GRAY WASH BACK BAR	1	\$175.00	Т	\$175.00
	Highboy Cocktail Table, 30"	8	\$10.00	Т	\$80.00
	IVORY 132" ROUND LINENS LAMOURE (HIGHBOYS)	8	\$29.00	Т	\$232.00
	LOWBOY COCKTAIL TABLES 36"	7	\$10.00	Т	\$70.00
	IVORY LAMOURE 120" ROUND LINENS LAMOURE (LOWBOYS)	7	\$29.00	Т	\$203.00
	Ava Sofa, Cream 8ft FOR BRIDE	1	\$350.00	Т	\$350.00
	Ava Arm Chair, Cream FOR MOTHERS AND GRANDMOTHERS	4	\$125.00	Т	\$500.00
	STAGE, 12FT X 16FT X 16" UNDER TREE	1	\$300.00	Т	\$300.00
	GREEN ASTRO TURF COVER 12FT X 16FT X 16" STAGE	1	\$275.00	Т	\$275.00
	STEP COVERED IN GREEN ASTRO TURF	1	\$55.00	Т	\$55.00
	Hedge Panel, 4' X 8'	4	\$125.00	Т	\$500.00
	Banquet Table, 8ft FOR BUFFET	4	\$10.00	Т	\$40.00
	CREAM 8FT Lamoure Linens FOR BUFFETS	4	\$29.00	Т	\$116.00
	Total FRONT H	IOUSE - RIGI	HT SIDE (BEDEK	EN)	\$3,146.00

FRONT HOUSE - LEFT SIDE (TISH)

	Qtty	Price		Total
Banquet Table, 8ft	5	\$12.00	Т	\$60.00
CREAM 8FT DRAPES	5	\$29.00	Т	\$145.00
Wood Folding Chair, White	30	\$2.50	Т	\$75.00
Total	FRONT HOUSE	- LEFT SIDE (TI	SH)	\$280.00
Α				
Lattice Chiavari Dining Chair - Clear IVORY CUSHIONS	200	\$6.00	Т	\$1,200.00
CLEAR NAPOLEON DINING CHAIRS (EXTRAS)	20	\$6.00	Т	\$120.00
STAGE 12FT X 12FT X 16"	1	\$300.00	Т	\$300.00
CREAM CARPET COVER FOR STAGE 12FT X 12FT X 16	5" 1	\$200.00	Т	\$200.00
STEPS COVERED IN CREAM COLOR CARPET '	1	\$0.00	Т	\$0.00
	То	tal CHUPPAH A	REA	\$1,820.00
ACKYARD)				
4FT BANQUET TABLES (WASH STATIONS)	2	\$12.00	Т	\$24.00
IVORY 6FT DRAPES (WASH STATIONS)	2	\$29.00	Т	\$58.00
IVORY 8FT DRAPES (EXTRA)	4	\$29.00	Т	\$116.00
STAGE 8FT X 8FT X 24" FOR BRIDE AND GROOM	1	\$240.00	Т	\$240.00
WHITE CARPET 8FT X 8FT X24" COVER . FOR BRIDE AND GROOM	1	\$120.00	Т	\$120.00
WHITE CARPET COVERED DOUBLE STEP FOR BRIDE AND GROOM	1	\$55.00	Т	\$55.00
HALF MOON TABLE (SWEETHEART)	1	\$12.00	Т	\$12.00
GOOSENECK COVERED IN IVORY VELVET COVER	1	\$100.00	Т	\$100.00
CRYSTAL MEDIUM CHANDELIER	1	\$250.00	Т	\$250.00
Banquet Table, King GUEST SEATING	10	\$18.00	Т	\$180.00
CREAM LAMOURE "KING" LINENS GUEST SEATING	10	\$30.00	Т	\$300.00
BANQUET 72" ROUND TABLES GUEST SEATING	5	\$12.00	Т	\$60.00
BANQUET 66" ROUND TABLES	8	\$12.00	Т	\$96.00
	CREAM 8FT DRAPES Wood Folding Chair, White Total I EA Lattice Chiavari Dining Chair - Clear IVORY CUSHIONS CLEAR NAPOLEON DINING CHAIRS (EXTRAS) IVORY CUSHIONS STAGE 12FT X 12FT X 16" CREAM CARPET COVER FOR STAGE 12FT X 12FT X 16 STEPS COVERED IN CREAM COLOR CARPET ' ACKYARD) 4FT BANQUET TABLES (WASH STATIONS) IVORY 6FT DRAPES (EXTRA) STAGE 8FT X 8FT X 24" FOR BRIDE AND GROOM WHITE CARPET 8FT X 8FT X24" COVER . FOR BRIDE AND GROOM WHITE CARPET 8FT X 8FT X24" COVER . FOR BRIDE AND GROOM WHITE CARPET COVERED DOUBLE STEP FOR BRIDE AND GROOM WHITE CARPET COVERED DOUBLE STEP FOR BRIDE AND GROOM WHITE CARPET COVERED IN IVORY VELVET COVER GOOSENECK COVERED IN IVORY VELVET COVER CRYSTAL MEDIUM CHANDELIER Banquet Table, King GUEST SEATING CREAM LAMOURE "KING" LINENS GUEST SEATING	Banquet Table, 8ft5CREAM 8FT DRAPES5Wood Folding Chair, White30Total FRONT HOUSEEA200Lattice Chiavari Dining Chair - Clear IVORY CUSHIONS20CLEAR NAPOLEON DINING CHAIRS (EXTRAS) IVORY CUSHIONS20STAGE 12FT X 12FT X 16"1CREAM CARPET COVER FOR STAGE 12FT X 12FT X 16"1STEPS COVERED IN CREAM COLOR CARPET'1ToToACKYARD)2IVORY 6FT DRAPES (WASH STATIONS)2IVORY 8FT DRAPES (EXTRA)4STAGE 8FT X 8FT X 24" FOR BRIDE AND GROOM1WHITE CARPET SOVERED DUUBLE STEP FOR BRIDE AND GROOM1WHITE CARPET COVERED DUUBLE STEP FOR BRIDE AND GROOM1GOOSENECK COVERED IN IVORY VELVET COVER1GOOSENECK COVERED IN IVORY VELVET COVER1CRYSTAL MEDIUM CHANDELIER1Banquet Table, King GUEST SEATING10CREAM LAMOURE "KING" LINENS GUEST SEATING10BANQUET 72" ROUND TABLES GUEST SEATING5	Banquet Table, 8ft 5 \$12.00 CREAM 8FT DRAPES 5 \$29.00 Wood Folding Chair, White 30 \$2.50 Total FRONT HOUSE - LEFT SIDE (TI NORY CUSHIONS Lattice Chiavari Dining Chair - Clear NORY CUSHIONS 200 \$6.00 CLEAR NAPOLEON DINING CHAIRS (EXTRAS) NORY CUSHIONS 20 \$6.00 STAGE 12FT X 12FT X 16" 1 \$300.00 CREAM CARPET COVER FOR STAGE 12FT X 12FT X 16" 1 \$200.00 STEPS COVERED IN CREAM COLOR CARPET' 1 \$0.00 VORY 6FT DRAPES (WASH STATIONS) 2 \$29.00 IVORY 6FT DRAPES (WASH STATIONS) 2 \$29.00 IVORY 8FT DRAPES (EXTRA) 4 \$29.00 IVORY 8FT DRAPES (EXTRA) 4 \$29.00 IVORY 8FT DRAPES (EXTRA) 1 \$240.00 STAGE 8FT X 8FT X 24" COVER 1 \$120.00 FOR BRIDE AND GROOM 1 \$240.00 WHITE CARPET 8FT X 8FT X24" COVER 1 \$120.00 FOR BRIDE AND GROOM \$1 \$120.00 WHITE CARPET SOVERED IN IVORY VELVET COVER	Banquet Table, 8ft 5 \$12.00 T CREAM 8FT DRAPES 5 \$29.00 T Wood Folding Chair, White 30 \$2.50 T Total FRONT HOUSE - LEFT SIDE (TISH) T T KAR 200 \$6.00 T CLEAR NAPOLEON DINING CHAIRS (EXTRAS) 20 \$6.00 T NORY CUSHIONS 1 \$300.00 T CLEAR NAPOLEON DINING CHAIRS (EXTRAS) 20 \$6.00 T STAGE 12FT X 12FT X 16" 1 \$200.00 T CREAM CARPET COVER FOR STAGE 12FT X 12FT X 16" 1 \$200.00 T STEPS COVERED IN CREAM COLOR CARPET' 1 \$200.00 T IVORY 6FT DRAPES (WASH STATIONS) 2 \$12.00 T IVORY 6FT DRAPES (EXTRA) 4 \$29.00 T IVORY 6FT DRAPES (EXTRA) 2 \$12.00 T IVORY 8FT DRAPES (EXTRA) 4 \$29.00 T FOR BRIDE AND GROOM 1 \$12.00 T FOR BRIDE AND GROOM 1

Description		Qtty	Price		Total
	BANQUET 60" ROUND TABLES GUEST SEATING	2	\$12.00	Т	\$24.00
	CREAM 132" ROUND LINENS 5 -72" ROUNDS/ 8 -66" ROUNDS/ 2 - 60" ROUNDS / 1- 60" ROUND SWEETHEART	16	\$29.00	Т	\$464.00
	IVORY LAMOURE NAPKINS .	250	\$3.00	Т	\$750.00
	BLACK LOUIE CANE BACK CHAIRS OATMEAL CUSHIONS	220	\$20.00	Т	\$4,400.00
	STAGE 20FT X 16FT X 16" FOR BAND	1	\$375.00	Т	\$375.00
	WHITE ASTROTURF COVER FOR STAGE 20FT X 16FT FOR BAND	1	\$350.00	Т	\$350.00
	STEP COVERED IN WHITE ASTRO TURF FOR BAND	1	\$0.00	Т	\$0.00
	SCALLOPED GLASS CHARGER WITH GOLD RIM	220	\$5.00	Т	\$1,100.00
	MELODIA WINE GLASS, CLEAR	220	\$2.95	Т	\$649.00
	MELODIA WATER GOBLET CLEAR	220	\$2.95	Т	\$649.00
	Grey Wash Bar, 6ft	2	\$250.00	Т	\$500.00
	Otis Back Bar, Grey Wash	2	\$175.00	Т	\$350.00
		Total POC	DL AREA (BACKYAI	RD)	\$11,222.00
KITCHEN AREA					
	Hedge Panel, 4' X 8'	3	\$150.00	Т	\$450.00
			Total KITCHEN AR	REA	\$450.00
Services					
	CREDIT CARD FEE 3.5%	1	\$371.25		\$371.25
	TRUCKING FEE (TUESDAY)	3	\$375.00		\$1,125.00
	TRUCKING FEE (WEDNESDAY)	1	\$275.00		\$275.00
	INSTALLATION FEE (TUESDAY) (INCLUDES OVERTIME)	8	\$275.00		\$2,200.00
	INSTALLATION + STAND BY TEAM (WEDNESDAY)	4	\$225.00		\$900.00
	BREAKDOWN FEE (THURSDAY)	8	\$275.00		\$2,200.00

Total Labor/Services/Misc:	\$7,071.25
Taxes :	\$1,607.21
Discounts:	(\$0.00)
Total:	\$25,596.46
Payments:	(\$25,978.62)
Balance:	\$-382.16